Scientific Notation (F)

Convert each number from scientific notation to an ordinary number.

249 x 10* = 5233 x 107 =

9.1 x 10* = 8.251 x 103 =
2.238x 10 = 94 x 108 —
3.083 x 10* = 9902 x 106 =
4.3 x 108 = 6.7 X 104 —

9.2 x 108 = 9.48 x 108 =
5.418 x 10° = 9.18 x 107 =
2.35x 10 = 2.6 X 10° —
8.81 x 10* = 4.5 x 107 —
7.78 X 10° = 1.2 X 103 —
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Scientific Notation (F) Answers

Convert each number from scientific notation to an ordinary number.

2.49 x 10*

9.1 x 10*

2.238 x 10°

3.083 x 10*

4.3 x 108

9.2 x 108

5.418 x 10°

2.35 x 10°

8.81 x 10*

7.78 x 10°

24,900

91,000

2,238

30,830

430,000,000

920,000,000

541,800

2,350,000

88,100

778,000

5.233 x 107

8.251 x 10°

9.4 x 108

9.902 x 10°

6.7 x 10*

9.48 x 108

9.18 x 107

2.6 X 10°

4.5 x 107

1.2 x 10°

52,330,000

8,251

940,000,000

9,902,000

67,000

948,000,000

91,800,000

260,000

45,000,000

1,200
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